*}ix 202]

/1 %) -mgLasbo

@) -mglwBo

II L) —@i?ﬁ%sﬁ\ﬁ

UA

I
1/

777

&

) o £8rs 8

2
ChRbnz 8 At 13 8 12 Ka < &3»7 T”

’zr«': ’f%%b

4) -mgleasB+ FmU
e =a 298 (s 8-cerBo)

~Vn3ﬂu—;6+5tmu.e &Y
(Masmg) Do = M4 VDA + Mp=0 FY = ﬁuﬁlh

Biit=07" rdy T @,’r:éu‘;tf

}( G& = Dat:
A~y

bg = ?TA‘E"" — ng.ﬂ(c.io—tusﬁu)J% ‘=z(——w%')-

= 4’.‘}72_:-: 0.3 % (]-—- OS‘*.\')

—

4xp.3 =

L2

2
i

"‘h'b- = m3 U -al)wsd = ~"f“j(9—dﬂ)f“a
1

2

()

2
:

v - 90- 4;1)([~—)——3(g_¢g)(1—§)
'b-’z

2

X b’
/ Z - Z9(2-4aR) q/_/;
2
2 s'l‘* 1’.!

¥
8(0-a2)

8"
iﬁ;ﬁ")-‘iffg v Zjo_(CUB)-—l’nSBD)

\ 2l 1 i ' B
;(D-Ag)u =30v & T T oo N

tzy I (5 &y =

> =

-

2 2 I
i 302-a9) f(_@ A0) zﬂ-ﬂ(cﬂﬁ-r:ara )5
2 z p
i) - ;
RIS Y ey 0o~ 40")
i g1-a0) xﬁ'ﬂ(% é

= a‘a-l» (—'—'—')’(b:-gg)

l—( F?

»
thloHaig

G =omnic= &’:fsf;zz_
¥nibiz 0" - 2O T 2
L-add 2-ap
2 2 5.—h -3;“
(4) (31 &V » y - 2 0 Z . 2
YT O 14 PP 1, i (85
) $lh TR
2 '35.“ lo %"
Dh=(l )8o=(—) 8o
-0l 9 . %M
N=ENot* B,228 ¢thl3a? (7) 5\?2\5\
FRHAE s 0302

%N(lojmﬁ J ?: [03:02 N z = 4? N-l‘

0.046*3

’Jk(l-mo.)



2 A l
n + *_{_PC-

T Co= 853 c("‘
@ ACKElER L3 Ee B e kish (Frm o) % |
Lkbv, 2 :t-,f“'/*T—dJ/"g’i‘ (z¢tc. x33)I g ———
Ci= ¢ = w&) FEbrs- U3
P TR I
2 Tz(d-x)
@) avTUY- o R EI13 & id = :ico kTR n e BLE Gy — ;C‘,Vhi%}
5

Breort it Wo= Fov- wviny
127 4 - THL -0 Ade ¥ ;‘;-‘f;-anvz— 2lc,vz (=abLe33)

THL &~ % {i—%- a Fﬂ/!? &

Al = Wo + W/
I8 L W = AU“Wo’-'K:_;CU Gi)» ZV - ['jCo-—Cu]V = -~ E(ECD—Q)V
| . 5 g N - S g 4 2
2[3ok (d~1)) TT =2 \d-x ~ Bnl)v
Wit ol : |
3 ol Sk
Ir —1 ﬁ; W bt > A M TVnIL2ID ko PO BT1d
a L4
$ adladLt. (feiz 3412 BuatT) LR ER s
! 4 4 4 b
S
B;= 0O "@1=—Cﬁv="2cﬂv
- - & > o 1 =
i ol
’ i 1-Qi + Q. = R, (= 2(:0\/) Q@
. I . +®'|-
~ o (Y p) ’
f % - & ISR L & Q.120: = 4d0V .Q©
xV h ol gl alae”h 4G 4G
Y ’
} \% + (3 O+ ® 3@2’ = e\ (|+291) Q;: %([+2JJCUV
..f-[-—-—'\-"&: Q,Ir-';(ﬁ’—lJCﬂv
. E:,_H o2~ ad 5a  amel
\/l— 4(.0-_ 2 v Vz.— Zf..or =Tv
. 52.. | 3
0 o AscO o KBTI 7 —‘% =i 3G

T Hh@it ~ Elfdo CK & T.:Q';LJ-:.%-T - *E,RJLT.
W teoovcr. artit-oBfs fEERELr 2V

2R Lo L
U

al

2V = = “"0) -

= Lol [ Z)ees (5
t=0

Als

1ATh~




af a al i L s ¢
U]"t:-a-(’\‘c‘. L:.E _Tc IQL_{—'E°SE‘:=DESS t 0z

tr—z -> _Q?

('F; B4 +84

4 — = = e
4o 2] O %G = =204 (
D}:Zm Lo :3' h&
4 lﬂ \V4
A }Cu\/ . @2 = 3 Co

LEHT- Q= Dot 3 Qu=—iQ+ Gz 2V 13" 1 — ARCD 1RARITEIZ.

= 20V al v Y4 mt wt |
+ a s P 31 A 2 i ZECE L X
4o 20Cs V Y L_Atl I /7_5/ 7 4.0 T (ns T >
=T
2’ L5 é— ’ l ]-
i L B L £ 753 ol ¥
2
4 ~@3+*Q@4=-0+Qz =2GVe X Y Q4= 3 GLVe ,®3=—§C°V°
Fev) (FGv) N
El 2-4C, - 2Ll - .
4 2
C36ev), Gav) (P
= + = -
E2 = % 3 GV

i 7., = e
:ﬂt?ﬂ D.‘flb = h\b-gl‘f’ﬁlg o (%:u) 74 %.%\bﬁtC 5-2ula’

E \ e C
A -{-31_1':;- (s} AE=-—'5:LIQ

B Qa2 ~ Q4 = Q1'-Gz'= 26 T -REenI.
Tt|t=0 2 Q; = Q|’= {;(o{—ﬂ CoV |2 IS0t T G,;'IJ&EQK @



sinb n
T ) - - Sub= M ::qf

o) $HERALI0EBEpa pe 2 s pat = -%.t
2= Psalp-g) x2 =zi>s‘.~.[a-f5)

20 BUtolhafzn cso. ﬁhﬂq-z%"fhﬁla
TG fotalfcefny 0at

) T’=%E (ro MR ALz
2 o (D~
_f: 2%?:‘—\(9—?5) =_Q_SCMJ

(v $.‘—-(B-Eﬁ)=f‘-n8(uc}5-—cgs§ s‘-:—-?g'—? @—F/
S:».F_S‘:_?:%, 5.'--8=1’\Cr-?5=v-\—;\f'—:.ﬁs
JE“—' ;:g(nd\ g)= 2@Qd (n-1)
(2

v T Cr

(o Q1 h & B

(29

) of b Licrmzry Lo dp" L2/,
flatas<nmy, f1ak=2cns 4

“
&l
v,
I
l
n

b
= h 'HSMF S.'MFS‘: ;T:

4 _ ko axtose
d= r Sm?S = —-l'l-— = —To—-
w TiElo § adc TR x2
2 0dn-)

frcjccuco(x2 = 2ts & ® e

= feso/ @ln) K, Al tesal ius"ﬂl(w—l]@lﬁ-
o

cr ner
G e fFraREt 2T ERS Fodn AL

{a{,= 4"[[%)2(1.5‘4) Ex 10 1o 1

1.V 3%‘I09* ot

(=10 Cay



